Oct 6 Math 2253H sec. 05H Fall 2014

Section 3.4 Limits at Infinity

Definition: Let *f* be defined on an interval (a, ∞) . Then

)

$$\lim_{x\to\infty} f(x) = L$$

provided the value of f can be made arbitrarily close to L by taking x sufficiently large.

Similarly

Definiton: Let *f* be defined on an interval $(-\infty, a)$. Then

$$\lim_{x\to -\infty} f(x) = L$$

October 3, 2014

1/30

provided the value of f can be made arbitrarily close to L by taking x sufficiently large and negative.

Formal Definition

Definition: Let *f* be defined on an interval (a, ∞) . Then

$$\lim_{x\to\infty} f(x) = L$$

provided for every number $\epsilon > 0$ there exists a number M > 0 such that

if
$$x > M$$
, then $|f(x) - L| < \epsilon$.

Similarly, for *f* defined on $(-\infty, a)$

$$\lim_{x\to-\infty} f(x) = L$$

provided for every number $\epsilon > 0$ there exists a number M > 0 such that

if
$$x < -M$$
, then $|f(x) - L| < \epsilon$.

f(x)= x L=0 Proof that $\lim_{x\to\infty} \frac{1}{x} = 0$. Need to find M>0 such that [±-0] < ε wheneve χ>M for any EZO. Note $|\frac{1}{x} - 0| = |\frac{1}{x}|$ so $\frac{1}{|x|} < \varepsilon$ requires (divide by E , must by 1×1) $\frac{1}{c} < 1 \times 1$

▲□▶ ▲圖▶ ▲国▶ ▲国▶ - 国 - のへ⊙

for x>0 we need
$$X > \frac{1}{\epsilon}$$

So we can take $M = \frac{1}{\epsilon}$.
Proof: Let $\epsilon > 0$. Set $M = \frac{1}{\epsilon}$ So that $M > 0$.
Note that if $X > M$, then
 $X > \frac{1}{\epsilon} \implies \epsilon > \frac{1}{X} = \frac{1}{|X|}$ (Since $X > 0$)
That is $|\frac{1}{X} - 0| < \epsilon$.

October 3, 2014 4 / 30

◆□▶ ◆□▶ ◆ 臣▶ ◆ 臣▶ ─ 臣 ─ のへで

◆□→ ◆□→ ◆臣→ ◆臣→ ○臣

Infinite limits at infinity

We may have a limit such as

$$\lim_{x\to\infty} f(x) = \infty$$
, or $\lim_{x\to-\infty} f(x) = \infty$.

The right hand sides may also be $+\infty$ or $-\infty$.

This means that f(x) becomes unboundedly large (positively or negatively) as x becomes unboundedly large.

Examples

$$\lim_{x \to \infty} x^2 = \infty \qquad \qquad \lim_{x \to -\infty} x^3 = -\infty$$

$$\lim_{x \to \infty} (x^2 - x) = \lim_{x \to \infty} x(x - 1) = \bigcup_{x \to \infty}$$
 " $\infty - \omega$ " is

$$\lim_{x
ightarrow\infty}(x^4{-}x^6)=\lim_{x
ightarrow\infty}x^4(1{-}x^2)=$$
 - $arkappa$

October 3, 2014 8 / 30

◆□> ◆圖> ◆理> ◆理> 三連

The indeterminate form $\infty-\infty$

Evaluate

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x})$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x + \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x + \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x + \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x + \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x + \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x + \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x + \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x + \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x + \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x + \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x + \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x + \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x - \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x - \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x - \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x - \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x - \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x - \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$\lim_{x \to \infty} (x - \sqrt{x^2 + 3x}) \cdot \frac{(x - \sqrt{x^2 + 3x})}{x + \sqrt{x^2 + 3x}}$$

$$: \int_{X \to \infty} \frac{-3x}{x + \sqrt{x^2 + 3x}} \cdot \frac{\frac{1}{x}}{\frac{1}{x}}$$

$$f_{0} = x > 0$$
$$x = \sqrt{x^{2}}$$



$$= \lim_{X \to \infty} \frac{-3}{1 + \sqrt{(x^2 + 3x)} \frac{1}{x^2}}$$

$$= \lim_{x \to \infty} \frac{-3}{|t \sqrt{1 + \frac{3}{x}}} = \frac{-3}{1 + \sqrt{1 + 0}} = -\frac{3}{2}$$

< □ ▶ < □ ▶ < ■ ▶ < ■ ▶ < ■ ▶ = つへで October 3, 2014 10 / 30

Section 3.5: Graphing

()

Analyze the function $f(x) = 5x^{2/3} - 2x^{5/3}$, and use the results to produce a rough plot of the graph y = f(x).

$$f(x) = 5 x^{2/3} - 2 x$$
the domain is all reals
There are no vertical asymptotes:

$$look for horizontal asymptotes:$$

$$lim_{X+\infty} f(x) = lim_{X+\infty} 5x^{2/3} - 2x^{3/3} = lim_{X+\infty} x(5-2x) = -A0$$

$$lim_{X+\infty} f(x) = lim_{X+\infty} x^{2/3}(5-2x) = D0$$

f has no horizontal asymptoter but it goes
down at the right and up at the fam left.
Intercepts: y-intercept
$$f(0) = 5(0)^{2/3} - 2(0)^{2/3} = 0$$

(0,0)
X-intercept(5) $f(x) = 0 \Rightarrow x^{2/3}(5-2x) = 0$
There are 2 of them (0,0) and $(\frac{5}{2}, 0)$.

October 3, 2014 13 / 30

▲□▶ ▲圖▶ ▲≣▶ ▲≣▶ ▲国 ● ● ●